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type cubi

c.m

function fs = cubic(x)

cubic(xb)

ans =

. =25

2

bisect('cubic',xb..0001,5*eps,1)

Bisection iterations for cub1c m

it Xm
1 1.5000e+000
2 2.2500e+000
3 2.6250e+000
4 2,.8125e+000
3 2.9062e+000
6 2.9531e+000
7 2.9297e+000
8§ 2.9180e+000
9 2.9238e+000
- 10 2.9268e+000
11  2.9253e+000
12 2.9246e+000
13 2,9242e+000
14 2.9240e+000
15 2.9241e+000
ans =
2.9241

--more--diary off

-2

.1625e+001
-1.
-6.
-2.
-4.
.5405e-001
.4571e-001
.5483¢-001
.86322-003
.0348e-002
.2723e-002
.3925e-002 -
.5299¢-003
.6692e-004
.1814e-003

360%e+001
9121e+000
7527e+000
5297e~001
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seven, txt

type.seven

function f = func(x)

%F = (3ex-2%5x)A(1/4.);

T = ((x+3)/ (x¥x+2))A(L/2) ;

%t = ((x+3~xA4) /2)A(1/2)5

%f = (3*XA4+2*XA2+3)/(4*XA3+4*X—1);

 picard(*seven',1,3)

k g ()
0 1.155e+000
1 1.116e+000
2 1.126e+000
ans =
1.126052233002276e+000

type seven

x(k+1) -
1.154700538379252
1.116427409872122
1.126052233002276

function ¥ = func(x)

f = (3+x-2¥x*x)A(1/4.);

%f = COX+3) /O x+2))A(1/2)

% = ((x+3-xA4)/2)A(1/2);

%F =. (3%XA4+2%xA243) / (4*XA3+4%x-1) ;

picard('seven',1,3)

k g0

0  1.189e3000
1  1.080e+000
2 1.150e+000

x(k+1)

1.080057752667562
1.149671430589383

~ ans =

1.149671430589383e+000

type seven

function f = func(x)

%T = (34x-2%x*x)A(1/4.);

%E = (Ox43)/(x*x+2))A(1/2);

T = ((x+3-xA4) /2)A€1/2);

%f = (3*xA4+2*xA2+3)/(4*xA3+4*x—1);

picard(‘seven’,1,3)

K g(x) X Ck+1)
0 1.225e+000 1.224744871391589
1 9.937e-001 0.993666159077482
2 1.22%e+000 1.228568645274987
ans =
1.228568645274987e+000
type seven

"1.189207115002721 -

[ % {K)=x (k1) |

0.154700538379251
0.038273128507129
0.009624823130154

|x (k) -xCk+1) |

0.189207115002721
0.109149362335159
0.069613677921820

IXCkY=xCk+1) |

0.224744871391589
0.231078712314107
0.234902486197505
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seven.txt

function f = func(x)

%F = (3+x=-2*x*x)A(1/4.) ;-

%F = ((x+3)/(x*x+2))A(1/2);

#F = ((x+3-XxA4)/2)A(L/2);

f = (3*xA4+2%xA2+3) / (4%XA3+4%x-1) ;

picard('seven',1,3)
k g(x) x(k+1)
0 1.143e+000 1.142857142857143
1 1.124e+000 1.124481690017895
2 1.124e+000 1.124123163940149
ans = ' ‘
1.12412316394014%9e+000

diary off

[xCK)=x (k1) |

0.142857142857143
0.018375452839247
0.000358526077746
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- prob8,txt
type eight

function [y] = eight(x)
Y. = cos(4.%x.*sqri(l-x.*x)) + 1 - 8.%x.*x + 8.*X.A4;
bisect(‘eight", [-1 .51,1.e-8,1e-8,0)
ans =
0.4040

format long
bisect('eight’, [-1 .51,1.e-8,1e-8,0)

ans =
0.40397275425494

bisect('eight',[-1 -.5]1,1.e-8,1e~8,0)
ans =

-0.91477101668715

bisect('eight', [.5 1],1.e-8,1e-8,0)
ans =

0.91477101668715
bisect('eight', {0 .5],1.e-8,1e-8,0)
ans = J ' '
0.40397275239229 .
bisect("eight', [0 .5],1.e-8,1e-8,1)

Bisection iterations for $ight.m

it

xXm m
1 2.5000e-001 1.0980e+000
2 3.7500e-001 2.1249e-001
3  4.3750e-001 -2,4100e-001
4  4.0625e-001 -1.6582e-002
5 3.9063e-001 9,7612e-002
6 3.9844e-001  4.0399e-002
7 4.0234e-001 1.1876e-002
8  4.0430e-001 -2.3616e-003
9 4.0332e-001  4.7552e-003
10  4.0381e-001 .1.1963e-003
11 4.0405e-001 -5,8279e-004
12 4.0393e-001  3.0670e-004
13 4.0399e-001 -1.3805e-004
14 4.0396e-001  8.4321e-005
15  4.0398e-001 -2.6867e-005
16 4.0397e-001 - 2.8727e-005
17 4.0397e-001  9.2956e-007
18 - 4.0397e-001 -1.2969e-005
19 4.0397e-001 -6.0197e-006
20 4,0397e-001 -2.5451e-006
21 4.0397e-001 -8.0775e-007
22 4.0397e-001  6.0902e-008
23 4,0397e-001 -3.7343e-007
24 4.0397e-001 -1.5626e-007
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25  4.0397e-001 -4.7680e-008
26 4,0397e-001  6.6108e-009

ans =
0.40397275239229
diary off

prob8.txt
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Problem 8: cos(4x*sqr1(1-x2)) +1-8x2 + 8x*
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type bonus2.m

function [y] =

—_ 5*1 r
g1segt( goﬁﬁ%%',%ﬂ

bonus2({p)

/(1= 53+p p))

A21-.5

B1sgct1on iterations for bonus2.m

1t

1 8
2 8,5000e-00L 3
3  8.2500e-001 -7.
4 8.3750e-001 -2,
5 8.4375e-001 6.
6 8.4063e-001 -7.
~7 8.421%9e-001 -5
8 8.4297e-001L 2
9 8.4258e-001 1
10 8.4238e-001 3
11 8.4229e-001 -8
12 B.4233e-001 1
13 8,4231e-001 2
14" 8.4230e-001 -3
15 8.4230e-001 -5
16 8.4231e-001 7
17 8.4230e-001 8
18  8.4230e-001 -2
19  8.4230e-001 -7
20 8.4230e-001 4
21 8.4230e-001 -3
22 8.4230e-001 -1,
23 8.4230e-001 -5.
24 8.4230e-001 -4
25 8.4230e-001 2
26  8.4230e-001 8.
27  8:4230e-001 2.

ans =

Xm
.0000e-001 -1

(.84230479151011

diary off

fm
.7695e~-001
4398e-002

5563e-002
1282e-~002
4349e-003
4611e-003

.2163e-004
.9546e-003
.2160e-003
.4704e~-004
.7329e-005
.2985e~004
.1257e-005
.3036e-005
-8898e-006
.6835e-006
.9684e-007
.4965e-006
-9983e-007
.8504e-008
.7566e-007

6358e-007
7538e-008

.5170e-009
.1994e-008

7383e-009
11.06e-009

bonus2, txt

8,1e-8, 1)
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